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QUESTION 1

Which utility is used to debug SPL routines?
A. OAT (OpenAdmin Tool)

B. dbaccess.

C. IBM Optim Data Studio

D. dbx.

Correct Answer: C

QUESTION 2

Which Informix edition, at a minimum, would permit a Global company to deploy multiple database backup sites for
protection against man-made or natural disasters? They want to include oneshared disk secondary, as well as one
Remote Secondary Server in their plan.

A. Informix Ultimate-C Edition

B. Informix Growth Edition

C. Informix Ultimate Edition

D. Informix Innovator-C Edition

Correct Answer: B

QUESTION 3

Which Informix utility allows you to change the logging mode for one or more databases?
A. oninit

B. ondblog

C. onmode

D. ondbmode

Correct Answer: B

QUESTION 4
Which of the following is true of the new Storage Provisioning technology in Informix?

A. Dbspaces can only contain one or two chunks.
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B. The ability to extend or create new chunks as needed.
C. Indexes are now separated from the data.
D. Table fragments are automatically compressed.

Correct Answer: B

QUESTION 5

Which of the following is a key benefit of Informix?

A. Database extensions can be added to supportnew business problem domains.
B. Chunks can be two gigabytes in size.

C. Uptime of at most 80% can be achieved using continuous availability features.
D. Databases can be administered by a local database administrator.

Correct Answer: A
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